
STEERING & SUSPENSION PARTS

JAPANESE VEHICLES
KOREAN VEHICLES
AMERICAN AND EUROPEAN VEHICLES

NEW ITEM LIST

VISIT CTR WEB CATALOGUE
www.neoctr.kr

NEO CTR CO., LTD.



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CBCR-10 05114037AJ LOWER CHRYSLER PT CRUISER 07- 40PCS

CHRYSLER SEBRING 08-
DODGE AVENGER 08-
DODGE RAM 3500 11-
JEEP LIBERTY 02-07

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CBF-28 F4ZZ-3050-B LOWER FORD MUSTANG 94-04 40PCS

CBF-29 FL3Z-3050-A LOWER FORD F150 15- 40PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CBG-67 12475478 LOWER CADILLAC ESCALADE II (GMT800) 01-06 40PCS

CHEVROLET AVALANCHE 00-06
CHEVROLET TAHOE II (GMT800) 99-06

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CEG-26 26054936 OUTER CHEVY/GMC TRUCK S10/SONOMA 94-04 18PCS

CHEVY/GMC TRUCK ENVOY/BLAZER/JIMMY/BRAVADA 95-05 (30/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CRN-71 48521-6A0A0 R/L CLIPPER MA0 03-13 20PCS

CRN-72 48521-WL085 R/L ELGRAND E51 02-10 20PCS
48521-WL025

CRN-73 D8521-1KE1A R/L JUKE F15 10- 32PCS

RACK END
NISSAN

NEW ITEMS

GENERAL MOTORS

CHRYSLER

TIE ROD END

BALL JOINT

FORD

GENERAL MOTORS



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CRSU-19 34160-CA000 R/L BRZ Z10 11- 32PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CRCR-3 68166678AA DODGE RAM R1500 PICK UP 13- 20PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CRG-19 23449526 R/L CHEVROLET MALIBU 16- 32PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CRKH-63 56871-59000 SOLATI (H350) EU 15- 20PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CQG-10R 5352038 LOWER R OPEL ADAM 12- 4PCS

OPEL CORSA D, VAN 06-
OPEL COMBO, VAN X12 12-
VAUXHALL ADAM 12-
VAUXHALL COMBO MK III 11-
VAUXHALL CORSA C, VAN L_8 06-

CQG-10L 5352039 LOWER L OPEL ADAM 12- 4PCS
OPEL CORSA D, VAN 06-
OPEL COMBO, VAN X12 12-
VAUXHALL ADAM 12-
VAUXHALL COMBO MK III 11-
VAUXHALL CORSA C, VAN L_8 06-

GENERAL MOTORS

HYUNDAI

SUBARU

CHRYSLER

RACK END

CONTROL ARM
GENERAL MOTORS



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLT-92 FRONT LAND CRUISER FJ, FZJ, HZJ, PZJ 7# 90-99 20PCS

90101-10157 (BOLT) (40/2PCS)
90948-02002(COVER)
90948-01003(BUSH)
90948-02017(WASHER)
90440-14024(TUBE)
94184-61000(NUT)

CLT-98 FRONT HILUX / 4RUNNER (4WD) LN, RN, YN, VZN10#, 11#, 13#, KZN, LN205 88-04 25PCS
HILUX KZN165, 190, KDN, LN, RZN, YN, VZN14#, 97-06 (50/2PCS)

15#, 16#, 17#, 19#
90101-10140(BOLT)
90948-02190/90948-02004(COVER)
90948-01002(BUSH)
90948-02034(WASHER)
90440-14003(TUBE)
94120-61000(NUT)

CLT-99 FRONT DELIBOY CXC10, KXC10 89-95 25PCS
DYNA 100 LH80, YH8#(85-87), YH81(87-95) 85-95 (50/2PCS)

LY100, YY100 95-01
DYNA 150 / TOYOACE G15 LY1##, 2##, YY1##, 2## 95-01
HIACE TRUCK LH80, YH80 85-87

YH81, LH8#, 9# 87-95
LH101, 111, 151, 161, YY101 95-96

HIACE VAN, COMMUTER LH5#, 6#, 7#, YH5#, 6#, 7# 82-88
LH51,61, 71, YH5#, 6#, 7# 87-07

HIACE VAN, WAGON YH5#, 6#, 71, LH5#, 6#, 7# 82-89
HIACE QUICK DELIVERY LH8# 85-95
LITEACE KM20, YM2#, CM20 79-85

CM3#, CM36(88-98), KM3#, YM3#, 4# 85-98
LITE/TOWNACE TRUCK KM2#, TM20, YM2#, CM2# 79-86

CM5#, 6#, JM5#, YM55, 6#
LITEACE VAN WAGON CM3#, 4#, CM35(85-88), KM3#, YM40 85-92

YM30(85-88), YM3#(88-92)
MODEL-F CR21, YR2#, YR31 82-90
TOWN/MASTERACE V, WG CR2#, 3#, KR26(82-88), KR2#(88-92), 82-88

YR2#, 3#

QUICK DELIVERY BU68, LH81, 82, LY151, 152, RZU68 95-01
VAN YR2#, YR3# 83-90

90101-10090(BOLT)
90948-02004(COVER)
90948-01002(BUSH)
90948-02005(WASHER)
90440-14004(TUBE)
94182-11000(NUT)

CLT-108 48830-07010 REAR AVALON MCX20 99-05 16PCS
PRONARD MCX20 00-03 (32/2PCS)

CLT-109 48830-48030 REAR HARRIER HV MHU38 05-12 10PCS
LEXUS RX400H MHU38 05-08 (20/2PCS)

CLT-110 48830-AD020 REAR TACOMA GRN2##, TRN2## 04- 25PCS
(50/2PCS)

CLT-111 48830-17040 REAR MR2 SW20 89-99 10PCS
SW21 90-95 (20/2PCS)

CLT-112 48830-17050 REAR MR2 SW20 89-99 16PCS
SW21 90-95 (32/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLN-79 56261-CK000 FRONT QUEST 04-09 40PCS

(80/2PCS)

NISSAN

STABILIZER LINK
TOYOTA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLM-37 4056A161 ◈ FRONT AIRTREK CU2W, CU4W 01-05 25PCS

MR241349 AIRTREK/OUTLANDER CU2W 01-08 (50/2PCS)
MR954887 COLT/LANCER CJ1A, CJ2A, CJ4A, CJ5A, CK1A, CK2A, 95-03

CK4A, CK5A
DINGO CQ2A 99-00
DION CR5W, CR6W, CR9W 99-05
LANCER CS1A, CS2A, CS3A, CS5A, CS6A, CS7A, 99-07

CS9A, CS3W, CS5W, CS6W, CS7W, CK1A,
CK2A, CK4A

LANCER, LANCER CEDIA CS2A, CS2V, CS2W, CS5A, CS5AR, CS5AZ, 00-09
CS5W, CS6A

LANCER/LANCER CLASSIC CS1A, CS3A, CS9A, CS3W, CS9W 00-12
MIRAGE CJ5A, CK2A, CK5A 96-02
MIRAGE DINGO CQ1A, CQ2A, CQ5A 98-02
LANCER/MIRAGE CJ1A, CJ2A, CK2A, CK6A, CK8A 95-00

CLM-38 MR555883 ◈ REAR CHALLENGER K94W, K94WG, K96W, K97WG, K99W 96-01 25PCS
MR586053 MONTERO SPORT K85W, K86W, K89W, K96W, K97WG, K99W 96-04 (50/2PCS)
MR344624 NATIVA K86W, K94W, K96W, K97W, K99W 97-

PAJERO/MONTERO SPORT K96W 98-09
PAJERO SPORT K86W, K96W, K97W 99-06

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLSU-7 20470-AJ010 REAR FORESTER S12 08-12 25PCS

S13 12- (50/2PCS)
IMPREZA G33 12-
LEGACY B14 09-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLF-5 2L2Z5K483A FRONT EXPLORER SPORT 01-03 10PCS

EXPLORER SPORT TRAC 01-05 (20/2PCS)
EXPLORER/MOUNTAINEER 02-05
RANGER 98-11

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLG-34 22710259 FRONT CHEVROLET CAVALIER 95-05 25PCS

CHEVROLET MALIBU/CLASSIC 97-05 (50/2PCS)
OLDSMOBILE ALERO 99-04
OLDSMOBILE CUTLASS 97-99
PONTIAC SUNFIRE 95-05
PONTIAC GRAND AM 99-05

CLG-35 10403402 FRONT BUICK CENTURY/REGAL 97-05 25PCS
BUICK LACROSSE/ALLURE 05-09 (50/2PCS)
BUICK RENDEZVOUS 02-07
BUICK TERRAZA 05-07
CHEVROLET UPLANDER 05-09
CHEVROLET IMPALA LIMITED/ 00-15
MONTE CARLO
OLDMOBILE INTIGUE 98-02
PONTIAC AZTEK 01-05
PONTIAC GRAND PRIX 97-08
PONTIAC MONTANA SV6 05-09
CHEV/OLDS/PONT U-BODY 97-05
MINIVAN

CLG-36 10385580 FRONT CADILLAC/CHEVROLET 02-06 16PCS
AVALANCHE/ESCALADE EXT (32/2PCS)
CHEVROLET/GMC DENALI/ 00-06
ESCALADE/TAHOE/YUKON
CHEVROLET/GMC 00-06
SUBURBAN/YUKON XL/XL DENALI
CHEVROLET/GMC-CEG/MTD 99-07
SIERRA/SILVERADO (CLASSIC)

GENERAL MOTORS

STABILIZER LINK
MITSUBISHI

SUBARU

FORD



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ
CVKH-193 55513-2S000 RR STABILIZER BAR TUCSON IX 09-13 3 PCS 45 PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ
CVT-79 48849-60010 RR STABILIZER BAR LAND CRUISER 100 FZJ10#, HDJ100, HZJ105,98-07 7 PCS 105

UZJ100 PCS
LAND CRUISER HDJ101, UZJ100 98-07

GRJ200, URJ20#, UZJ20007
VDJ200

LAND CRUISER(CHINA) GRJ200, URJ202, UZJ20007-
LEXUS LX470 UZJ100 98-07
LEXUS LX460/570 URJ20# 07

CVT-83 48654-20190 FRT  ARM CALDINA AT19#, CT19#, ET19#, 92-97 4 PCS 60 PCS
ST19#

CALDINA II AT21#, CT21#, ST21# 97-02
CALDINA E T190 92-97

CVT-84 48706-35020 FRT ARM 4RUNNER III N180 95-02 5 PCS 75 PCS
LAND CRUISER PRADO J90 95-08

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ
CVN-22 54613-3UB0A FRT STABILIZER BAR DUALIS(JP) J10 07- 3 PCS 90 PCS

X-TRAIL T31 07-
T32 13-

X-TRAIL INNMAKE T31N 08-
X-TRAIL JPNMAKE T31 07-14
X-TRAIL PHIMAKE T31P 10-
X-TRAIL PRCMAKE T31Z 08-14

T32Z 14-
X-TRAIL RUSMAKE T31R 09-

CVN-23 54613-JG03A FRT STABILIZER BAR DUALIS JPNMAKE J10 07- 3 PCS 90 PCS
DUALIS UKMAKE J10E 07
JUKE F15 10-
QASHQAI PRCMAKE J10Z 08-
ROGUE S35 07-
X-TRAIL T32 14-

HYUNDAI
BUSH

TOYOTA

NISSAN



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ
CVD-1 48654-B2010 RR UPPER ARM BOON M300, M301, M310, M312 10- 4 PCS 60 PCS

M600, M601, M610 10-
COO M401, M402, M411 06-
ESSE L235, L245 05-11
MIRA L250, L260 05-07
MIRA GINO L650, L660 05-08
MOVE L150, L152, L160 05-06
MOVE LATTE L550, L560 05-08
SONICA L405, L415 06-09
TANTO L350, L360 05-07
TOYOTA PASSO KGC1#, QNC10 04-10

KGC3#, NGC30 10
TOYOTA BB QNC2# 06-10

DAIHATSU
BUSH



* ADDITIONAL APPLICATION IS THE NEW OEM NUMBERS WHICH CAN BE COMMON USED WITH CURRENT CTR PRODUCTS
WITH GOOD PERFORMANCES.

THE OEM NUMBERS AND OTHER APPLICATIONS WITH MARK ☆ ARE NEW APPLICATIONS AND WERE NOT INCLUDED
IN LAST VERSIONS OF CTR PARTS CATALOGUES, AND THOSE ARE NEWLY ADDED INTO CTR APPLICATIONS.

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CRN-46 48521-JA00A R/L ALTIMA L32 07-12 40PCS

M16 X 1.0
M14 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CRN-46 48521-JA00A R/L ALTIMA L32 07-12 40PCS

D8521-JA00A M16 X 1.0
M14 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLN-30 56261-7S010 ◈ FRONT R XTERRA N50 05- 40PCS

54618-EB71A M12 X 1.25 FRONTIER  05- (80/2PCS)
54618-EA000 NAVARA D40T 07-
54618-EA010 PATHFINDER R51 05-

CLN-31 56261-7S000 ◈ FRONT L XTERRA N50 05- 40PCS
54668-EB71A M12 X 1.25 FRONTIER  05- (80/2PCS)
54668-EA000 NAVARA D40T 07-
54668-EA010 PATHFINDER R51 05-

CLN-63R 54618-3JA0A ◈ FRONT R MAXIMA 09- 10PCS
54618-9N00A M12 X 1.25 (20/2PCS)
54618-3JA0C

CLN-63L 54668-3JA0A ◈ FRONT L MAXIMA 09- 10PCS
54668-9N00A M12 X 1.25 (20/2PCS)
54668-3JA0C

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLN-30 56261-7S010 ◈ FRONT R XTERRA N50 05-15 40PCS

54618-EB71A M12 X 1.25 FRONTIER  05- (80/2PCS)
54618-EA000 NAVARA D40T 07-
54618-EA010 PATHFINDER R51 05-12

CLN-31 56261-7S000 ◈ FRONT L XTERRA N50 05-15 40PCS
54668-EB71A M12 X 1.25 FRONTIER  05- (80/2PCS)
54668-EA000 NAVARA D40T 07-
54668-EA010 PATHFINDER R51 05-12

CLN-63R 54618-3JA0A ◈ FRONT R ALTIMA L33 12- 10PCS
54618-9N00A M12 X 1.25 MAXIMA A35 08- (20/2PCS)
54618-3JA0C PATHFINDER R52 12-

PATHFINDER HYBRID R52HV 13-
TEANA RUS MAKE L33R 14-
INFINITI JX35/QX60 L50 12-
INFINITI QX60 HYBRID L50HV 13-

CLN-63L 54668-3JA0A ◈ FRONT L ALTIMA L33 12- 10PCS
54668-9N00A M12 X 1.25 MAXIMA A35 08- (20/2PCS)
54668-3JA0C PATHFINDER R52 12-

PATHFINDER HYBRID R52HV 13-
TEANA RUS MAKE L33R 14-
INFINITI JX35/QX60 L50 12-
INFINITI QX60 HYBRID L50HV 13-

NISSAN

ADDITIONAL APPLICATION

RACK END
NISSAN

STABILIZER LINK


	Cover
	New Items
	New Items_BUSH
	Additional

